HP—3EH 1 7 B4R

SRT7HE1THLH
INT AT T AT S A

b

%
>

(HEAL - [ FERRBL)
(B LvEE T (BEFN 25 EEEREDH 40 5) F1 150203, FHIHEFENZOHTEIZL D)

PERE ) B X5y BEMoo N F 5 B
WIS 2 E [, AL 2 OXRE 1 HE - F5OME B _Fnr, H=
PERE 1 Tr, ROENErE2ET,) OREITR DM
L REAOGR 500 imo b | 1,020,000 [ |
. REREO A 500 AL, 3,000 iLNO LD | 1,150,000 [ |
gy | - REREO AT 3,000 a2 B2, 10,000 N0 LD | 1,600,000 4 |
RIS AR 10,000 A, 50,000 MEANO LD | 1,690,000 [ |
| RERO A 50,000 A, 100,000 HUMO LD | 2,260,000 4 |
| RSO AT 100,000 2% . 200,000 mLAROHO | 2,590,000 1 |
. RERO AR 200000 A AL b | 3,240,000 1 |
I SRR ERIAT A 1 3 9 45 1 T =5 3UIE M5 = (Z | 1,150,000 [
-~ NOOBEZDHE1A05FH2H, B 14 158 2HUIS
F143FKE2HIIBWTHENT GG EET,) NI HH 1
4 A1 HEE S u I (2) OFREICR DM
WS | . BEICHES HIESORE (1. KO, ISHR5R0E) &% | B
(set - | TS ORBA T Ch > <, EhmBkEsEat, [0
TAE) Bk B OV AR ESCRED 70 L3R D b D DFBEITSR 2 FFAMh HEEO)
MEEZE | AR | 1. @FEMEERITEE 4 6 55 4 HE 1 (JHHEOEICHR S | 2,700,000 [
PERE T (TPl I i
PR BE Tk | 1. @SR YEERIAT NG 8 420> 3 DREE TSR 2wkl 2,700,000
[RPALS
(%) SRS 2 04% 1 HE S OREITR LMD 9 b, BEICHHE %2 52 1) 7= 5 1E5% 0

RHEIZE B AR D D RHINC & - T,

0)&—5—60

E
IREFEOARHIYFELIARD LEFICOVWTHET D b

Lk



